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SMleyenrser : (1)

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@dl - 3 /PART - A

@O : Siemensgl elamesEns@h eloLwaisseb. 14x1=14

Note : Answer all the questions.

L Qar@ésliulL HIETE deLselled Wasab ghyeLw Nenuleamer
CoipQs0s5s GHULGLa e wileman b Carsg er(pgis.

Choose the most suitable answer from the given four alternatives and write the option

code and the corresponding answer.
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Qurmaflwed FALGGuS : :
(1) UDPTEGD ueTEIG@EED GO 68lHLUILRISEDLD
(<) wallg A@HLILED HlepeiamLsaitd

(8) GQedeugsdnEn Cailldp@n o drer Cgmi

(FF) <irsg Cuerearantd

Economics is the study of :

(@) scarcity of means and limited ends

(b) human wants and their satisfaction

(c) relationship between wealth and savings
(d) management of the state

aaralsgaisms QuEEh olgliumLE ssSwns edlemmbiGeagl :
(=1) 2-pusdHeow 2 &FUILIHSSIFED

(=) SO ed

(8) Qamu Cprég

() Ussméan

The basic force that drives the capitalist economy is :

(@) Maximisation of output

(b) Planning

(c) Profit-motive

(d) Innovation

HI&TCeUTT eT&sld eremig) :

(=) Caeneu =yafliiy () sE@ame —2 ammenin alame
(@) Cseneu > el (FF) MVn=TVn—-TVn-1
Consumer surplus is :

(@) Demand =Supply (b) Potential price - Actual price
(c) Demand > Supply (d) MVn=TVn-TVn-1

Cgeneuailsl o amiggioig) :

(=1) cfleney, LIGTLBISEHEES 2-6Tem Sanadp 2 mey
(<) efleney, LIGTLBISEREE 2-eter Chlg. 2 may
(&) @rambid

() elemevenws WL (LD

Law of Demand establishes :

(@) Inverse relationship between price and quantity
(b) Positive relationship between price and quantity
(c) Both

(d) Price only
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5. uam_gdlpsrear Caamen @smans ETIHES) :
(=1) &mipg LT kiseafler aflenay (<2b) augpLomaid

(@) vam_sBer afeve (%) Guopamflu SioarggiLy
Demand for a commodity depends on :

(a)  Price of related goods (b) Income

(c)  Price of that commodity (d) All the above

6. Fwhlee almeude :
(=) Gaanou = yafliiyy
() Camau > yafliiy
(&) Gomass@id <ieflliGp@h Qs @edame
(rF) Ggeneu < el
At the equilibrium price level :
(a) Demand =Supply

(b) Demand > Supply
(c) Demand does not relate to supply

(d) Demand < Supply

7. Bagdlhe efssiu@n safub
(<4) &nadl
(@) eur_ens
Reward paid to land is :
(b) Interest

(a) Wages
(c) Rent (d) Profit

(<) aulig
(FF) @emub

Clummermgmyé Claaallar o aran_dswrarg Qeueflymny Qeawey wHmib :
(<) e ememming Ceeay

(=) wmorE CFeey
(@) wrmb Cswe] () &epss Csaey
Economic cost includes explicit cost and :
(@) fixed cost (b) implicit cost

(c) variable cost (d) social cost

2" . B .
9. Hermeys'Guiriiy. fimeuagdlar CoemeisCan( :
(1) &1p Gprsdl slpg Gedgid (<) CwaGprad #fipg Gedgib
(@) QemEssTs QMHEELD (FF) &evLiol L 1oms @)mESLD

Under perfect competition, the demand curve of the firm is :
(b) Upward sloping

(a) Downward sloping .
(c) Vertical (d) Horizontal
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10.

11.

12.

13.

14.

SQwanriq.en Coenau eranLig) :

(@) QuprinL Gsenau (<) 2 mé Csema
(8) Qpflpssl Caneu () Gl Cseneu
The demand for cement is :

(a) derived demand (b) effective demand
(c) elastic demand (d) direct demand

Ggmenens Couanaeumiiiy Gam_Lim() Qg TLTenL g :

(=) @LBELSss Comar Lpprégemp
(<) Sendlen maTay Cam U

() 2mfls Coeneus Cam_un(

(/) Ge-wlen shans el

Classical theory of employment is based on :
(a) Deficiency of aggregate demand

(b) Keynesian law of consumption

(c)  The principle of effective demand
(d) Say’s law of market

“GeumaeumitiLy, eulig. Hmib Lamd LbHHiu @@ durgs Csriur”
CTEIGYILD BN GT(PEH WU :

(=) ad avifls (<) JM. Senia

(8) GLeill MseriGLr () <pelrl wriege
The author of the book “General Theory of Employment, Interest and Money” is :
(a) Adam Smith (b) J.M. Keynes

(c) David Ricardo (d) Alfred Marshall
epagan S nisafler grar oirs Qeawame SLALUOSSeus) -
(1) eleva FlevaliLiRsgisen (=) LemTeum_ L ib

(@) Ceuaravufemenio (F) ueweSsan

Reducing public expenditure on capital projects is to control :

(a) stable prices (b) deflation

() unemployment (d) inflation

“#686CepL” afQsaudsid afsQsrarans TR :

(=) augdl &l (=) Czaflay e

() fAssen cid (F) swsgiar a9
The “ability to pay” principle of taxation is :

(a) Canon of convenience (b) Canon of certainty
()  Canon of economy (d) Canon of equity
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12x1=12

Camgl L @ kisener HlrliLs :
Fill in the blanks with suitable answers.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

LegruulL. CedeusdbE erhasisam ()
An example of cosmopolitan wealth is

Curgiggienpuid seflwmi gempu b Qenamhg GlFwLLHg)

The public and private sectors exist in L

riagalar  LWETUTL®, g @ ereuig

L@GLUUMIeITELD.

Marshallian utility approach is

L buy CurBLaEpsstar CoameusGsriyer Fmiiay

The demand curve for luxury goods slopes

peiar ummafiwed eudaianser, srosms LDOHMILD

erar LM gg e,

Modern Economists divide time periods into and
eramugl @ Blmeuagdler o a@ref® wpmib QauaflihsEnsE

Gen Cui o drer Quicoimen QgmirLmgih.

The functional relationship between input and output is known as

venté ClFeelena GTEIDILD EMLPEHFHETLD.

Money cost is also called
ARSIy pepuliled Hpeuambiser iemengs SALAGLEIC 1

ROp@LYLET mOFsOTs QFwueuL GCalamew s Lrugens

2 TS (H&HELD.

Firms realize the importance of mutual co-operation under

THD) eordwid eTerLs) Ceawamer GHriug).

Transfer earnings refer to _______ cost.

QrOU (PEiamd aibTaAd qpL@L  eifursssddar clemaray
alleneTe] <y, @ELb.

The magnified effect of initial investment on income is called effect.

sreyb uer eiésdes __ eremmib SINLPESHELD.

Galloping inflation is also known as

auflefdliner 2jiqlien. Gam’ Lim’ en_ eranml SiempsECmimib.
are the fundamental principles of taxation,
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L. Speumeuareupennis QUITHSSIS :
27.
28.
29,
30.
31.

32.
33.
34.
35.
36.

37.
38.

wpge Grrud ufls
saflurt QerggMeno
L DUTLY LT RIgeT
Coafi wpmid sma

seT@pLgelame Bjdeg
&1fle) aflepey

QLiur@seflen Qgmeii
@eomruib
eppmiflenwwimeri Guim i
sLan Bldlé Cam ()

Seu:

Haogdlem gLy
F&EST Bl fleva oifléams

Match the following :

27.

28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.

First Nobel Prize
Private property
Luxuries

Tea and Coffee

Price discount

Bundle of risks

Profit

Monopolistic competition
Loanable funds theory
Keynes

Value of Money
Balanced budget

12x1=12

LS Sen QUTBIGLD &&E)
<@ @olen efibnssiss
TR-TC

Bireno dlpLILID

genelilLmé ClgmeTenssL
GlLIT(RETTS LD

Ldlw Csrenenoare Gsmum
uéle&.'_@u‘ ueﬁm_rmsé'rr

I LDLITS6T LOHMILD o oL 6i
6L 2, LITERTRIGHET
GU(HBUMLLD, GIFQEILD FLOLDTS
lRICTe

anrGe

EH. Gawuireder

Purchasing Power of Money
Annual Stock Clearance
TR-TC

Liquidity preference

Laissez faire economy

Neo - classical theory
Substitutes

Timbergen and Frisch

~Diamond jewels

Revenue and expenditure are equal

Hawley -
E.H. Chamberlin
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v. GaraiBld dlamss@nsg eflmp Qemseafsr el 515 : 12x1=12

Answer each of the following questions in a word or two.

39. M&sTiGLr eThs WapmeniLl vweruBsSlemmi ?
What is the method that Ricardo made use of ?

40. laTa|Gsdlsorer o HusSHuler elleneray wrg ?

What is the result of over-production ?

41. Hlffleoes Carliyhe wHOprm QU eremear ?
What is the other name for budget line ?

42. Ggeneus Gamum’igen glien erHCasmer ereaven ?

What is the basic assumption of the law of demand ?

43. Stsmgs srTosHe eflliy Haeowrarsr ?

Is supply fixed in the market period ?

44, FPSTW LOTHOLD STEDID (PSEUT Wi ?
Who is the changing agent of the society ?

45. gprEfé Qewe| eremUg) eremem ?

What is average cost ?

46. orETRIEL WPHOIflemww el SLGLLOSSID ?

How does the government control monopoly ?
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47. s fer Georus Gemiumriiger QUi ererer ?
What is the name of Schumpeter’s theory of profits ?
48. @l (h CQwrgss Csemaubd, QUK Crss safltih sHHEGD Lyerrarfludleon
QuWIF eresem ?
Name the point of intersection of Aggregate Demand and Aggregate Supply-
49. menioll LamE@ETETens eriEdum(ips| sy sLuGEAng ?
When is dear money policy followed ?
50. QuUITgIG HL 6 Gremg) ereaen ?
What is public debt ?
LGS - o) /PART-B
Goliy: () stenauCGuiggId LSS eNaméEsEhEE enwiaflGsa . 10x3=30 |
() eea@eurm elel b HIENE sdos ohs aflsaid bl
Geuair(hLb.
Note: (i) Answer any ten of the following questions.
(i) Answer for each question should be about four or five lines.
51, Lwaflen wAuy wppd uforppsSdr LALY Gapfimear CapUOss.
Distinguish between value-in-use and value-in-exchange.
52. e QUT@HETTSIT oewlide sremiiuid SiglineL Ll résemeansar
wirenel ?
What are the basic issues of an economic system ?
53. @)gmnaﬂggjmm GTEmITED GTemman ?

What is capitalism ?



54. efpUUBISHT CHTaTD STTEUEGE Wiranel ?

What are the causes for wants ?

55. &HlosLiet 0 oud
ver Ldlengl b - Hmi GO geTemn eUemnTS.

Write a note on Giffen Paradox.

56. ; - :
6. CamausGsr® GLIb QuuUisaIssTar sTrafllseT wreme ?

What are the determinants of shifts in demand curve ?

57. BewrL &meuLd O GO ST ms CoumLHSSIS-

Differentiate the short period and the long period.

58. LIWGTLITL g6 GUESSEETE Falis.

Name the types of utility.

59. o epLientl euenFwIm.

Define labour.

0. o amenind GQFewa e GTeuTen ?

What is real cost ?

-G @ e Guiujerer 2 MEHEETSH Falls.

61. MC pmid AC
petween MC and AC.

Mention the relationship
(1Lé GamLuTLig e APED) CrésEISeT W ?

62. [Birenld edl(m
tives of liquidity preference theory ?

What are the three mo
[ SpLiys / Turn over
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. s st 2
63. QLMOwTHEs Comes hE G SMralGMmaTs FTTHS)

Give the factors on which the aggregate demand depends.

64.  Lewmgdlen QlassamEmS Fms.

Define Money.

65. ‘yshur flblene idlsens erammmed eTeme ?
What is zero based budget ?

LGS - @ /PART - C

- @O0 () eremeuCuigniih 0 ellangsEné@ elenlWefldseyLb. 6x10=60
)  geublaurm el b eah LGS oeredlsd SiamwpIL CeuesHib.
Note : ()  Answer any six of the following questions.

(i) Answer for each question should be about a page.

66. sLsmo AummeTTETISSe BeenLoseaar allend s,

What are the merits of socialist economy.

67. <imsng srasdd swhlaa ofaam GTeU 6T ﬁr'rmlreuﬂésa;l'_lu@aﬂm@ ?

How is the equilibrium price determined in the market period ?

68. &fldls sjere) efeneray cill&@L, wmmb el jemey eleneray clgl& @b
2 6TeT @hmieniogeneri i Ceupmieniosenami b ellersEs.

Distinguish between laws of returns and returns to scale,
69. AR pmib MR Canr@aefien QerL_Guiwimer 2-DOUEEET GT(LpS;)5.
Explain the relationship between AR and MR curve,
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70. BewLsre srrafls Ceae| euamerCair(g uhd GO euers.

Write a note on long run average cost curve.

71, uemLmsmer GounUBSSIGD TmTe) cramar ?
What is meant by “Product differentiation” ?

72. Senis CSa;rrl_'_urrL'_Lq_Gbr FMITDFSENS LILLD aUTHS) NeTdHG5.
Draw the flow chart depicting the essence of Keynesian theory.

73. mISTeYs FTienll euenrLGgIL e elersEs.
Describe the consumption function with a diagram.

74. wrfle® orflear WsHw eufleumeumi WHOILD euflwmm e (meumudled

S STIBIEMET G56TEGS.
Explain the important sources of tax and non-tax revenue of the state government.

75. HH& Qardrensuien GmpUTHsar wreal ?
What are the limitations of fiscal policy ?

u@$ - /= /PART -D

stenauCiend eem)I GHlaTTESE@EhES en_wefldseyd.  3x20=60

GeuGeur(p el epesmI LSS jemelled AeobSIL
GouaT(HLD.

Answer any three of the following questions.

Answer for each question should be about three pages.

VII. @oluy: (0

QuTHETTSTTS®SL LpB Gewend Fridenéler @absamsams QLTS

76.
Examine Lionel Robbins’ definition of economics.

FCHTES UGS 160 <G (LPenDEHEna QgeflayuH 5SS

77.
Elucidate the Indifference Curve Approach.

[ SlpLins / Turn over



78.

79.

80.

81.

12

deowslsma ApdpFflioa amad@n wopsmer farors

GT(LPSELD.

Explain in detail the methods of measuring price elasticity of demand,

womflewule sTss LTESRIEMET < Tmils.

Explain the advantages and disadvantages of monopoly.

sLamhd aulind GCamium igemer aQeufdmayLb.

Describe Loanable funds theory of interest.
vemeisagdlen eleereser WLHMD SLOLUUGSSID

efeurdlssa] .

Discuss the effects and remedies for inflation.
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